Ph¥oFI5

REERR

A10179 | BHIRCLAB/S F10td L

.

S EwHERE A OIREEIR /> Ko 10mmT A1, =
OKHRNDATIIIRENZZER 2 BB LR TR IEHY €A, &
@ERHIND - T LIS, =1
@EI—F A10179 B5IRCLAB/N F10t3 L BT (mm)

PAX | & B | BUOR | ppmprs TR IL b A %

Ee ) @) |EEESE t | c NN D | F | T

0014 15A Y 257 | 23] 25| Mm8x25 | 26 | 8

0029 20A % 312 | 23| 25 | M8x25 | 26 | 8

0033 25A 1 376 | 23| 25 | M8x25 | 26 | 8

0048 32A 1% 463 | 23| 25 | M8x25 | 26 | 8

0052 40A 1% 522 | 23| 25 | M8x25 | 26 | 8

0067 50A 2 641 | 23 | 25 | M 8x25 | 26 | 8

0071 65A 21 79.9 |32 | 25 | M10x30 | 26 | 8

0086 80A 3 927 | 32| 25 | MI0X30 | 26 | 8

0103 100A 4 183 | 32| 25 | M10x30 | 26 | 8

0118 125A 5 1438 | 45 | 32 | M12x45 | 35 | 10

0122 150A 6 1702 | 45 | 32 | M12x45 | 35 | 10

KARE. TLADHRKIPEDZHEOHIET,

A10218 | 27 /B5IRCLAB/ S K10t A

S EHRERE B OIRMHEEIAR/ > Ko 10mmT A1,
OAHMNATIIIREMTER Z BREICER T DR IEH LA,

@SUS 3044,

@mBEI—F A10218 X7 BFiRCLAB/N F10tT L BT (mm)
PAZX | B B | BOB | cxnmprs FEfHARIL A %K
a—k (A) (B) BEENHME| t C ExXEX D F )

0014 15A iz 25.7 20 | 25 M 8Xx25 26 8
0029 20A % 31.2 20 | 25 M 825 26 8
0033 25A 1 37.6 20 | 25 M 8Xx25 26 8
0048 32A 17 46.3 20 | 25 | M 8X25 | 26 8
0052 40A 17 52.2 20 | 25 M 8Xx25 26 8
0067 50A 2 64.1 20 | 25 M 8Xx25 26 8
0071 65A 2% 79.9 20 | 25 M 8Xx25 26 8
0086 80A 3 92.7 20 | 25 | M 8x25 | 26 8
0103 100A 4 118.3 20 | 25 M 8Xx25 26 8
0118 125A 5 143.8 3.0 | 32 | M10x35 | 35 | 10
0122 150A 6 170.2 30 | 32 | M12x45 | 35 | 10
KA. TLADHRKPEDZHEHHIET,

37%




